1 %390 11ne — n''atn — 1 980N

TP W 21927

1
(x—y*)S=x*-6x"y*+15x*y* =20 x’y*+15X* y*—6xy""+y'* I
(x*+3)=x"+18x""+135x"+540 x°+1215x*+1458 x*+729 .11

5
( +2) = ‘;021 1490 11

(Vx—=) =xX—6x"+15-20x>"+15x >—6x "*+x° IV

K 7-k 7-3k
Twx3) (Z)(%) (—\/§)7k=+(2)2 X *x 2 :i(Z)Z"x 199 7RI 07N NND MR 993 7K L2

1
NRT 281799 . k=2 wRd 7Mp N, == onn oowom WK (K DPMT-R/N1MTY aRNma Yap: 100

—(;)22=—84 :07PR DR RIRAY T3

231
16 X177 D7PA 2 HaP1 1PN MR L3

.70 R¥7 WO 5017 °D 921 19INT NN 4

TIA%a Boo
4_

X (4—x)(2—\/;) _(4—x)(2—\/;)_ —Jx
—Vx (2=Vx)(2+Vx)  4-x =2

4-x_ __ (4=x)(x+V3x+4) _(4—x)(x+V3x+4) _(4—x)(x+\3x+4) _

x—\/3x+4_(x—\/m)(x+\/3x+4)_ x’—3x—4 - x*—3x—4
2
_(4=x)(x+V3x+4) _ —(x+V3x+4)
(x—4)(x+1 (x+1)
3
X _ x((x+17"+(x+1)""+1) _ x((x+1)+(x+1)"+1) RPN
m—l ((X+1)1/3_1)((X+1)2/3 (X+1)1/3 1) % ( 1) ( 1) 1

NON2OR IP0ISY DY R
1

2x°=2 _ 2(4x—-1)(4x+1) —2(4x+1)
(1-4x)(2x=7) (1-4x)(2x=7) 2x-7

2 2 .
Xy 1 y=lly+l) g
xy+1 xy+1




5a°~16a+12 _(a—-2)(5a—6)_ (a-2)(5a—6)  a—2

5a°—a’—6a  a(5a’—a—6) ala+1)(5a—6) ala+1)
n‘-m'  n’—nm-2m’_(n’—m’)(n’+m’) (n—2m)(n+m) _
n’=3nm+2m’  n*+m’ (n—2m)(n—m) n’+m’
2 2
:(n—nﬁ(n+m)h1+n1)(n—2nﬁ(n+m):<n+my
(n—2m)(n—m) n’+m’
ARNMWAT DR DPWRA 7N51 . 3_\/11 <Xx= 3+\/11 oy =2 X2+6X+1ZO X7 77770 QN

2 2
T3 —2 X+ 6 x+1=(2x+1)F MWD =2 X’ +6x+1=2x+1 VT2 ARV Y RN
n n —_— 1
DI 19K1 ARNWRA 7287 "y MINNST DX P72 W 5" (1257 X7 A9wD) 1122 WA L X, =0,
ARW3 2"Y1 2NN 3-2 7777 21N DR MXON 1PW MR 2 P1Iwa-R 11IN9% I AR 27Rpn

X177 119N9:7 52 7RI 7287 .OW 2°pNR PIMWI-R AR 217271 2N1TCIW 19INA 19X 2N MITPI 3 2080

,0<x<l
3

Y172 AROYT Y VX +5=1+V8—x ORI IRNWAT DR MN91 . —5<x <8 RIT 7V 21N
P17 v . X ,=—1,4 100 1272 noou ARYYM V8—x=x—2 M. x+5=1+2/8—x+8—x
TINOY NI NYI ARNWNAT DR D71Pn DANIW 19K — Y12°72 ARV N2 9932 MNND NX
DOYLPAN TR 922 WD TP 2081 .2OV0R AWIPWY TN 2N DR QP20 NINNNDT W NIwn-R
. —5=<Xx<4 X3y PIN97 00 22PN ,aW 07PN PNWI-R OR P1727 070

1T

IV

I



	אינפי 1 – מדמ"ח – פתרון תרגיל 1
	הבינום של ניוטון
	כפל בצמוד
	חזרה על טכניקה אלגברית

